PRODUCT 5y RAMID PADDED TUB CHAIR 6947

< BACKREST

(/_\\ “ Z117 (Whole top piece)

=< ARM RH when seated N/A
ARM LH when seated N/A
SEAT i

( Z117 (Whole top piece)

B I | UNDERSIDE FRAME (Underside leg collar)
< FRAME RH when seated (Set of legs)
| | = FRAME LH when seated (Set of legs)

- CROSS BAR FronT N/A
CROSS BAR RreArR N/A

FIXIN
GS M6X30 SCREW x8, M6x14 SCREW x4, RECIPIENT SCREW M6*15 x8, M6 WASHER x8, ALLEN KEY,

UNIQUE PARTS
N/A

NOTES




